REVIEW: EQUATIONS OF LINEAR RELATIONS

1. Aline has a slope of —:1% and a y-intercept of —2.

(a) Sketch a graph of the line. ]
0

2. Given the following equations of linear relations, state the slope and y-intercepr.

(@ y=x-6 (b) y=—x+10
m= | m= b‘
b= ~b b=_10

3. Using the grid provided below, graph each of the relations in question 2.

(b) Write the equation of the line
in slope-y-intercept form.

) b=-2

© x==7 | (@ y=—
m:"ﬁ‘ldu m= O
b= ' b= — E

(Graph 2(e) using the intercepts method.)

(c) Now write the equation in
standard form.

3)/ =-% -0
[ Bya Xk = - x—+xth
’)61—3)/+6:O

(e) 5x—2y-10=0
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m=_3
b=_=5
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4. Hannah’s total pay includes a base salary and a percent of her sales. COmmISS10n l S5 @

The following table shows her total pay for three different sales levels.

L -F}qe V@la{-ww ,mear

Sales Total pa
) (s)” Cannt use First oh%ceremec Because
250 15 000 1700 the Cl'langegw\ cales 18 not OOMS{QW}-
- 132S-1700 _ ras__L_
17500 1825 M, = %m 2500 ~ 0.04
+10%00 | 28000 2350 My = R350-[BRG SRS _], —

R3000- 17500 = (0500 ~ &0
Determine Hannah'’s total pay when her sales are $47 000.
Show your work. Ca '(u}a*’ﬁ \/"[/\EQP% U g‘l"l (‘M’]\/ yow th ‘{'&b!e

Ans: P= 0055 150 |y y 000 , - P= 005(470p0) +450
5. Consider the two relations represented below. Qa o0y = 33 0 O
Relation 1 Relation 2
Y

Sx—2y=4
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Determine the slope of the line representing each relation.

Show your work.
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